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QUESTION 1

If there is more than one rule in the rules file for a given cell, which rule does IBM CognosTM1 calculate?
A. The rule with the highest priority flag is calculated.

B. Depending on which rule was calculated immediately before, the next one is used.

C. It calculates the last applicable rule.

D. It calculates the first applicable rule and then stops.

Correct Answer: D

QUESTION 2

Click the Exhibit button.

Name
~ = Americas
— m Nerth America
wa USA

= m Sguth America

o Argentina“

— = Europe

= Albani

= o Afri
g?qypt
% Angola

= Australasia

m Aystralia

You have the dimension shown in Performance Modeler as shown in the exhibit.
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Which three actions create a subset containing the countries starting with "A" in alphabetical order? (Choose three)

A. Hide consolidated members.
B. Hide leaf members.

C. Sort ascending.

D. Sort descending.

E. Filter by wildcard A*.

Correct Answer: ACE

QUESTION 3

When creating TM1 applications using Performance Modeler, what are the three legal values for Application Type?

(Choose three.)
A. Central

B. Workflow

C. Responsibility
D. Approval

E. Distributed

Correct Answer: ACD

QUESTION 4

A customer is using TM1 subsets.

Which two statements are true? (Choose two.)

A. There are three types of subsets: conventional, static, and dynamic.

B. There are only two access-types for subsets: private and public.

C. In TM1, there is a notion of a default subset that will appear in the system default view
D. Subsets can only contain leaf-level elements.

Correct Answer: BC

QUESTION 5
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Which statement is true about cube properties?

A. The cube properties cube includes a list of all dimensions in the cube.

B. Cube properties are held in the system cube named \}CubeProperties using the dimension \}CubeProperties.
C. The cube properties cube is visible and accessible to all users.

D. The cube properties cube includes a list of all the views associated with the cube.

Correct Answer: B

QUESTION 6
Click the Exhibit button.

19696 [2] INFO 2012-03-16 09:02:48.749 _ TM1.Process Process

Update Product Dimension executed by chore ﬁgﬁeduled Import
i i & —
P

5
19695 [21] INFO 201z2-03-16 09:02:4§f%50 TM1l.Process Process £1h
"Update Product Dimension": finished €xecuting normally, elapsed time 0.01 sé&

Referring to the entries in the tmlserver.log shown in the exhibit, which statement is correct?
A. The product dimension has been updated.

B. The process Update_Product_Dimension has not created an error log.

C. The process Update_Product_Dimension has no parameters.

D. The chore Scheduledjmport has completed.

Correct Answer: B

QUESTION 7

Which three are typically stored within a TM1 control object? (Choose three.)
A. A list of TM1 users

B. TM1 system errors

C. Data required by the TM1 server to perform a driver-based calculation

D. TM1 object-level security permissions

E. Statistical performance data about the TM1 server

Correct Answer: ADE
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QUESTION 8

Cross-Cube Feeder statements will result in a Cube Dependency relationship between the Dependent Cube (containing
the feeder) and the Base Cube (the target cube of the Feeder from the Dependent Cube) if the Feeding cells contain
data at Server startup or if initially null at server startup, the feeding cells are subsequently updated during the server
session.

Which statement describes the relationship between the cubes having the Cube Dependency relationship?

A. Cell value updates to the Dependent Cube will invalidate the cache of the Base Cube.

B. Cell value updates to the Base Cube will invalidate the cache of the Dependent Cube.

C. Cell value updates to the Dependent Cube will invalidate the Cube Dependency.

D. Cell value updates to the Base Cube will invalidate the Cube Dependency.

Correct Answer: A

QUESTION 9

Which component would you use to define and publish a package in IBM Cognos Bl to report from TM1 data?
A. Framework Manager

B. Transformer

C. Report Studio

D. TM1 URL API

Correct Answer: A

QUESTION 10

A Skipcheck statement appears in the Rules file, however the calculated cells are not fed. What are two results?
(Choose two.)

A. Leaf level calculated cell values will not be calculated.
B. Non-null/non-zero Leaf level calculated cell values will be suppressed by a view\\'s Zero- Suppression property.

C. Non-null/non-zero Leaf level calculated cell values will be ignored when imbedded in another leaf level cell rule
calculation.

D. Non-null/non-zero Leaf level calculated cell values will not be included in the parent consolidation(s).

Correct Answer: BD
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QUESTION 11

What does IBM Cognos TM1 do with calculated values based on rules?
A. It keeps them in a user cache for further usage.

B. It keeps them in a cube cache for further usage.

C. It keeps them in a disk-based cache for further usage.

D. It does not keep them in order to minimize memory usage.

Correct Answer: B

QUESTION 12

What are the elements of a rule?

A. Area Definition, Qualifier, Formula, Terminator, and Sequence Indicator
B. Area Definition, Qualifier, Formula, and Priority Flag

C. Area Definition, Qualifier, Formula, and Terminator

D. Area Definition, Formula, Terminator, and Priority Flag

Correct Answer: C
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